NP- HARDNESS Aeview ,  [UNDECIDABIUTY.

A subset S of vertices in an undirected graph G is almost independent if at
most 374 edges in G have both endpoints in S. Prove that finding the size

of the largest almost-independent set of vertices in a given undirected
graph is NP-hard.
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A subset S of vertices in an undirected graph G is sort-of-independent if
if each vertex in S is adjacent to at most 374 other vertices in S. Prove
that finding the size of the largest sort-of-independent set of vertices in
a given undirected graph is NP-hard.
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